C:h Multiplying Using Arrays Name:

Usethearray provided to solve each problem. ANSWers

D 45x59= 2) 49x59 =

1.

I 2.

' 3.

__________ )

5.

6.
9 39x16= %) 37x13=
%) 37x48= 6) 37x14=

16 [83]67|50[33[17] 0 |
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ﬂh Multiplying Using Arrays Name:. Answer Key

Usethearray provided to solve each problem. Answers
1) 45x59 = 2) 49x59 =
o . - . 1 2,655
; 5 2, 2891
40 y : «d 40 (40 x 50) (510 x 9)
(4050 (52126 9 2 000 360 3 624
S - a 481
R T R T i ©x0 B
250 45 5, 1,776
6. 518
3 39x16 = 4) 37x13=

10 6 10 3

30 130 x 1030 x &

~

300 1180 30 | (30 x 103p x|3)
! 300 190
9 (9% 1009 %6 :
Q 54} . _rTTrrTT -
71 (7% 107 xB)
7021
5 37x48 = 6) 37x14 =
40 8 10 4
30 (30 x 40) (30x8
1,200 | 240 30 | (30 x 1q30 1)
' 300 :120
--------------------- L :
7 (7 x 40) (7x8 :
T @ x 107 x4
70 128

16 [83]67]50]33][17] 0]
[ Math ] www.CommonCoreSheets.com 10




	Worksheet
	Answer Key

